Revision
1. How many Tens are in the number
4532 -
2. Round 4532 to the nearest 100 =
3.9+9+9+49 =
4.35x12 =

5. What is the sum of 5373 and 908

6. Calculate the product of 246 and 67

7. If 127 mangoes were shared equally among 3 children. How
much mangoes would each child receive?
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Sally went to the Market , she bought 1kg of tomatoes for
$17.25, 3 celery which each cost $3.73 and 2Ib of fig which
was sold at a rate of $1.25 per |Ib. What was her change if she
went to the make with $50.00.

Using the short division method calculate 68 divided by 4.

Find the differencebetween 1000 and 4972
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